

2.49  
2

$$\textcircled{a} \quad y' = \frac{3(x+3)^2(x-1)^2 - 2(x-1)(x+3)^3}{(x-1)^4}$$

הפונקציה  
(0, 27)

$$y'(0) = \frac{3 \cdot 9 + 2 \cdot 27}{1} = 81$$

$$y = -\frac{x}{81} + 27 \quad \text{הפונקציה הריבועית} \quad -\frac{1}{81} \quad \text{הפונקציה הריבועית}$$

⊖  $x \neq 1$

⊕  $f(0) = 27 \quad (0, 27)$

$$0 = \frac{(x+3)^3}{(x-1)^2} \rightarrow x = -3 \quad (-3, 0)$$

⊖  $\lim_{x \rightarrow 1^+} \frac{64}{+0} = \infty \quad \lim_{x \rightarrow 1^-} \frac{64}{-0} = -\infty$

$$m = \lim_{x \rightarrow \infty} \frac{(x+3)^3}{x(x-1)^2} = 1 \quad n = \lim_{x \rightarrow \infty} \left[ \frac{(x+3)^3}{(x-1)^2} - x \right] = \frac{x^3 + 9x^2 + 27x + 27}{x^2 - 2x + 1} \rightarrow$$

$$= \lim_{x \rightarrow \infty} \frac{11x^2 + 25x + 27}{x^2 - 2x + 1} = 11 \quad \rightarrow y = x + 11$$

⊖  $f' = 0 = \frac{(x-1)(x+3)^2 [3x-3-2x-6]}{(x-1)^4} = \frac{(x+3)^2 (x-9)}{(x-1)^3}$

-1	-3	0	-1	2	9	10
+	0	+	+	-	0	+
↗		↘	↗	↘	↗	↘

$x = 9, x = -3$

$x < -3, x > 9$  :  $\nearrow$   
 $-3 < x < 9$  :  $\searrow$

⊖  $f'' = \frac{2(x+3)(x-9)(x-1)^3 + (x+3)^2(x-1)^3 - 3(x-1)^2(x+3)^2(x-9)}{(x-1)^6} =$

$$0 = \frac{(x-1)^2 [2(x^2 - 6x - 27)(x-1) + (x^2 + 6x + 9)(x-1) - 3(x^2 + 6x + 9)(x-9)]}{(x-1)^6} =$$

$$= \frac{1}{(x-1)^4} (2x^3 - 3x^2 - 6x^2 + 6x - 45 + 45 - 3x^3 + 162x + 243 + 27x^2 - 18x^2 - 27x)$$

$$= \frac{1}{(x-1)^4} (96x + 288) \rightarrow x = -3$$

-4	-3	0
-	0	+

$(-3, 0)$   $\searrow$   $\nearrow$   $x < -3 : \searrow, x > -3 : \nearrow$

